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Part-A (Each Question 1 Marks)
afe £(x)=8x* aum H(X):Xm?ﬁforgm?ﬂ‘ll If f(x)= 8x’and g(x)=x" than find fog.
cos™' (~3) %1 Y@ T &M ? What will be the principal value of cos™'(- })
cot (tan'a + cot'a) B W FA1ZA Find The value of cot (tan"'a + cot'a)
24 FATA 1A AR B W v ferfa

Write the passible orders of a matrix with 24 elements
HAN z,lmt(xl)aﬂ X B ‘WA’ JTHT FU—

Differentiation the function zm with respect to x
log x &1 AHIGEA Wd T
Find the Integration of log x
xBRGAAB A x(i+j+k) D PRERNE?
For what value of x, x (i + 3 + ]E] is a unit vector
R i-) FaRe i+] Wyde I F-
Find the projection of the vector i j on the vector i+]
@ B A WA P AR e Y B Ra-wrew wa s
Fim:l the direction-cosines of a line which makes equal Angles with Axis
R P(A)=03, P(B)=0.53R P(2) =0.4%a P(ANB) T BA-

If P(A)=0.8, P(B)=0.5and P(§) =0.4 Then find P(ANB)
Part - B (Each question 2 Marks)
wgead {1,2,3,4, 5,6} % ofvmf¥a waw R = {(a, b) :b=a +1} & wnfda® q Wames A Wiy

#FITI Check the symmetry and transitivity of the relation R = {(a, b): b=a +1} defined in the
set {1,2,3,4,5,6}
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afe sin(sin—-g-‘mos“ X) =1 & x 1 9H @ FA-

2 -1 10
af XL]W[ 1]=[ j]a’ixaymmmm—
12 -1] {10
1fx[J+ }'[ 1]=|: 5:| then find the value of x and y
1 |23 -10
Rk A =[l 2:\W B=l: lzi\ﬁ\(A+2B)"§Haﬂ1—
1 1-23 -10
if A = |9 and B= | o | then find (A +2B)

(k, 0), (4, 0) 1 (0, 2) ¥ird a1t FArywt 1 &t 4 ol gard XY k ot w1 T BR-

Find the value of K if area of triangle is 4 square unit and vertices are (k, 0), (4, 0) and 0,2)

fig—] 3 for Y s

Ul+x

.o dy . _-—l[2x}
Find Fe if y=sin
X 1-1rx2

TWy=x' - 1Ix+SREAF IR R ROt @t y=x- 11

Find the pointon the curve y = x* - 11x + 5 at which the tangentisy = x - | |
COSX ) COSX
J 1o dx - Find [ iy dx
Part-C (Each Question 3 Marks)

x+4  2x  2x
2x x+4  2x
2 2x x44

fg a1 = (5x +4) (4-x)?

x+t4 2x  2x
2x x+4  2x
2 2x x+4

Prove that

= (5x +4) (4-x)?

Kcosx
TR B £ (x) = {,‘t_'gx; T x - ; JX = ; W A g K #

2.

.
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ﬂﬁ'ﬂrﬂﬂi afd x - ;

_ _[Keosx o o7 | .
[f the function f(x) = } 7=2x ! X% 5 iscontinuous atx = 5

ﬁx=%

Then Find the value of K
Tl ST B forerd e wer” FveR T A ey ada B

Find the Intervals in which the following Functions are strictly Increasing or Decreasing

() x(x-2° (if) 2x*-3x
3
f X o g
: x--1
Find

P T (1 +x2)dy+2xydx=mtxdxmmsawaﬂ’n
For the differential equation (1 +x?) dy +2x y dx=cotX dx find the general solution.

6 A B T @ B 3x-y+2z-4:031’m+y+z-2=o$qﬁ-ﬂzmﬁ§

(2.2) | TR T
Find the equation of te plane through the intersection of the planes 3x-y +2z-4=0and x+y+z-2-0

and the point (2,2)
1
A gemaii A 2B @ RATR P(A)= ,P(B) =T P(ANB) - ¢ 74 (A' M\ B) 3@ S

For Two Event Aand B P(A)="and P (B) =% and P(A N B) ‘l‘ Then Find P(A' N B')
Tﬁﬁ{ﬁaﬁmmﬁﬁmﬁmmﬁmﬁmmmﬁ -
Find the Probability Distribution of Number of Heads four Tosses of a coin

PART -D (each question 4 marks)

'.'TI?
f log sin x dx 1 AT B B |

8]

‘."L!g
Find the value of _[ log sin x dx
o

971 OR

r 2x
o A WA

2
Find the value of I o

1
0 I=x
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fa 1 =l va Yol A R & 1 s s A
Find the Area bounded by the given curves and lines

(y=xr . X=1, x=2andx-axis (jijv=x",y"x .xOandx=3
3gdi OR

WA yi=dax Y@y - mx. ¥ & F & s e

Find the area of region bounded by the parabola y*=4ax and the line y = mx.

20 e WHTER TS A W G 2i- 44 sk AR To2) 3K ¥ zae fiedl & sgfew o
w2 s 39 AR dawa N 5[ F
or Parallet

2i -4+ 5k andi-2j -3k arethe Adiacentsidesofa parallelogram. Find the unit vect

no its diagonal also find its area.
3@ OR

, @ e A B Rrg AR 342)+ 0k M T+ 1] « 3k FAE

For what value of & , vector 3 +2j+9k and % + Aj + 3k are parallel?

30 fRefyafee 2i-j+ 4K ard g A A a3 Afw | 2] -5k F form ¥ T Tl W &6
afrer siv g Wl § w2

¢ in vector and cartesian form that passes through. The point with

Find the equation of the lin
position vector 2i-)+4k and in the direction P+2j-5k -
a1 OR

< A 1 R T e ARG, A e faeg A7 WS QA WR AR AR 374 556k

R Ffra ¥
Find the vector equation of the plane which is at a distance 7 units from the origin and is the

normal to the vecter 3+ 5] 6k
31, ﬁqmﬁ}:ﬁﬁ‘hzﬂxﬂyﬂ&lﬁﬁmﬁﬁm x+2y<10, 3x=y<15 x,y20
Maximize z = 3x+2y under the following constraints x +2y < 10, 3x=y<15,x,y20
9a OR
ﬁqmﬁmﬁz=x+2ymﬂ{ﬂﬂﬂmﬁﬁq—2x+y;3. x+2y2, xy20

Minimize z = x+2y under the following constraints 2x+y23, x+2y2 , x,y20
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